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Section A ! Short-Answer Questions

Questions 1 1o 10 are 1 mark each.
Questions 11 to 24 gre 2 marks each,

Far each question, read and write your answers in the
boxes provided or do as instructed,

1, Write in numeral.

Ninety-eight

2. Colour the box that matches the number on the

left.
[ 43 + 25 31 + 47
[ 80 - 2 76 - 7
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3.

4
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Which tine is the shortest, A B or O7
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Study the dingram below carefully.

The mass of the trephy is .
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5 15 & fess than 40,

6. Study the greph below carefully,

7

Faveurite fruits of pupils in P1A,
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apple orange bahana pear

reZeSeSeS o 0

gt 4

Each *;,F.;:‘ stands far 1 fruit,

How many fewer pupils in the class like pears than
orgnges?
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7. Hh+6 + 8 = X 4

&, Find the total ameunt of money as shown in the
box,

510 $5 $2 i
30 $5
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9. Arrange the numbers in order.
Begin with The smaliest number

smiailest

10. 15 pencils are shared equally among 3 bays,
How many pencils does each boy get?

< G 2 =
LB R e e
. A A

Fach boy gets pencils,
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11, How many flowers are there ?

BRBBB

Spppy FEBRE
BREBR BBREE
BEBER BRBER

BBBER BREEE
BRBEE BRBRE

REBBR RBBE
BBBBR RBRER

flowers altogether,

There are

47 + 26 =

12
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13. What is missing in the pattern?
Tick { v} the correct answer below,

0

J @fjﬁ

u

i

14, Ben is singing with his friends,

Ben is the

child from the right,
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15 Draw the hour end minute hands on The face of
the clock to show The time given.

The time is 2 o'cleck,

100

1

16, 33+
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7. Look at the number bond below.

What are the migging numbers in the number
bond?
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18. Study the diagram below carefully,
Which is heavier Ball A or Ball 87
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Study the graph carefully and answer Guestions
19 and 20,

The graph below shows the number of books sald
in a shop from Menday to Friday,

2
BE

#onday | Tuesday | Wednesday | Thursday | Friday

Robk
CEEEEE
CEEE
EEBE

Each % stands for 1 beook.

19, Onwhich day were the least number of books

sald?

20. From Monday to Friday, how many people came to
the shop if each person bought 2 Bogks?
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21, Colour 4 coins which will up 75 cents,

22, Leok at the subtroction method below,

/3
-3 |2
3 7

What is the missing number?
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23. Rectangle B is 3 units shorter than Rectangle A
Draw and colour Rectangle & belaw To show the
length of Rectangle B,

S —

24, Study the diggrams below carefully,
cup
N
bottle
F | :
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Section B : Long or Structured Questions
{ 3 marks each )

Show vour werking clearly in the space below.
Write your answers in the spaces provided,

25. There are b1 pages in o starybook.
Tirmumy has read 13 pages.
How many more pages must he read to finish the

starybook?

O

O

He has to read

maore pages.
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26, Hosling, Denny, John and Pat share 20 swaets

equalty,

How mary sweets does each child gei?

Ring the sweets to show the number of sweets

each child gets,
@ I
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Jah : ) A
BB B B
B B B B
B BN MR B

Each child gets sweets,
3
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£7. There are 86 children in the library
37 of them are bays.
How many girls are there in the library?

There are

O

O

giris in the library.
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28. Thare gre & raws of chairs,
There are 5 chairs m each row,
How many chairs are there aftogether?

There are

LR
R R R
R R
R
B R
ARAE R

OLJO

chaérs altogether,
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